.0 3.4 Difference of Squares
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We're going to look at some more expressions like this one. See if you can pick out any patterns.
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Now that we’ve picked out the pattern, try the questions below.

What do you look for first when you factor? b(/{:

1) Factor each expression below,
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We can use this strategy to factor, even when the terms are not perfect squares. This just means that we will

have radicals in our factors. What do we look for first when we factor? GCF

2) Factor each expression.
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i o use it. If there is
Using difference of squares to factor means that there must be subtraction in ordert
addition between your terms, then we can rewrite it as a difference. é\)M aF CoseS
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So, if there is addition between your terms, what kind of factors will you have? :[Mﬁ‘g'l\ﬂfy_

3) Factor cach expression. What do you look for first when you factor? (ZCF
a) x? + 25 b) 16x% + 49
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